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Five men are eating different slices of pizza and drinking different soft drinks. Figure out which pizza each one is eating.

Shirt: black, blue, green, purple, white Soft drink: cherry, cola, grape, orange, strawberry
Name: Arthur, Gerald, Howard, Lawrence, Samuel Age: 30 years, 35 years, 40 years, 45 years, 50 years
Pizza: BBQ Chicken, Hawaiian, Margarita, Pepperoni, Occupation: archeologist, biochemist, director, psychologist,
Vegetarian sculptor
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The man wearing the Black shirt is next to the man
drinking Orange soft drink.

Arthur is a director.
Howard is at the first position.

The oldest man is somewhere to the right of the man in
Black.

The Psychologist is eating the Hawaiian pizza.

The man eating the Pepperoni pizza is somewhere to
the left of the man wearing Purple.

The 45-year-old man is somewhere between the 35-
year-old man and the 40-year-old man, in that order.

At the fourth position is the man drinking Strawberry
soft drink.

Gerald is somewhere to the right of the man wearing
Black.

The Psychologist is at the fifth position.

The 35-year-old man is drinking Cola soft drink.

Lawrence is somewhere to the right of the man
wearing the Purple shirt.

The Archeologist is exactly to the left of Arthur.
At the fourth position is the 45-year-old man.

The man in Black is somewhere between the 35-year-
old man and the man in Green, in that order.

The man eating the Margarita pizza is exactly to the left
of the man eating the BBQ Chicken pizza.

The man drinking Grape soft drink is somewhere to the
right of the man wearing Blue.

Arthur is next to the man in Purple.
The Biochemist is at the second position.

The man eating the BBQ Chicken pizza is somewhere
between the man wearing White and the man eating
the Vegetarian pizza, in that order.
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Five men are eating different slices of pizza and drinking different soft drinks. Figure out which pizza each one is eating.

Shirt: black, blue, green, purple, white

Name: Arthur, Gerald, Howard, Lawrence, Samuel

Soft drink: cherry, cola, grape, orange, strawberry

Age: 30 years, 35 years, 40 years, 45 years, 50 years

Pizza: BBQ Chicken, Hawaiian, Margarita, Pepperoni, Occupation: archeologist, biochemist, director, psychologist,
Vegetarian sculptor
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The man wearing the Black shirt is next to the man
drinking Orange soft drink.

Arthur is a director.
Howard is at the first position.

The oldest man is somewhere to the right of the man in
Black.

The Psychologist is eating the Hawaiian pizza.

The man eating the Pepperoni pizza is somewhere to
the left of the man wearing Purple.

The 45-year-old man is somewhere between the 35-
year-old man and the 40-year-old man, in that order.

At the fourth position is the man drinking Strawberry
soft drink.

Gerald is somewhere to the right of the man wearing
Black.

The Psychologist is at the fifth position.

The 35-year-old man is drinking Cola soft drink.

Lawrence is somewhere to the right of the man
wearing the Purple shirt.

The Archeologist is exactly to the left of Arthur.
At the fourth position is the 45-year-old man.

The man in Black is somewhere between the 35-year-
old man and the man in Green, in that order.

The man eating the Margarita pizza is exactly to the left
of the man eating the BBQ Chicken pizza.

The man drinking Grape soft drink is somewhere to the
right of the man wearing Blue.

Arthur is next to the man in Purple.
The Biochemist is at the second position.

The man eating the BBQ Chicken pizza is somewhere
between the man wearing White and the man eating
the Vegetarian pizza, in that order.
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